Math 13 Winter 2015 Your name:

Instructor (please circle): 01 Pierre Clare o Mingezhong Cai g Erik van Erp

Problem set 5, due Wed Feb 11
Flease show your work. No credil is given for solutions without justification.

(1) Evaluate the line integral f,xds if C is the closed curve in IR? consisting of the straight
line segment from (0,0) to (2,0), the straight line segment from (0,0) to (0,4), and the
segment of the parabola y = 4 - 22 that connects (0,4) to (2,0),

(2) Evaluate the line integral [ ¥ -dr for the vector field F(z,y,2) = {(z + 2,y @, 22) and
the straight line segment C from (1,0,0) to (0,1,1).

(3) Let F = V[ be the gradient vector leld of the function f(z.y) = tan (2% +4%). U Cis
the arc of the circle r(t) = (5cos(t), 5sin(t)) with 3 < £ < ¥ is the line integral [ F-dr
positive, negative, or zero? Explain your answer. A y
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